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NOTES: Section 8.6 - Exponential Growth Functions

Goals: #1 -1 can graph write and graph exponential growth functions. v [
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Homework: Section 8.6 Worksheet

Warm Up:
1. Write the number 0000459 in scientific notation.

.59 « 1077

2. Write the number 4.33 x 108 in standard notation.

[ 933,000,000\

3. Perform the indiciated operation.
a. (9% 1079)(2x 10%)

1% % 10"
\E&j\b“
Bx102 ‘0—3‘('5)

" 4x10°5 Y

[2:10" |

Exploration #1: Work with a partner. Complete the tables and graph the following
functions.

1. y=5% 2. y=5x
| & 3 Y % * 2 b
=1 | 2% 3 -7 |-10 .‘z
-\ "5' & 2 N nd B o d
0 [ | : 2 A
\ S \ -\0
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Notes:

One use of QX\QOY\U\“M ‘h)n (hunlss to model QK\F Um nﬂ(u J{I\L\‘J“lh
A quantity is growin Q_.ZS!““E ! “L nkl if it increse by the same Vern }
ineachunit:; H?Y\( . (&K 0 \00/01 ‘lr\plesj

FX‘V“YU nﬂw gYO \)\H/h can be modeld by the equation:
y — C(i__'_v—};)—t—? hm{.
NN & = 410WTh
amovnt 9T Ry~ rhit

Example #1: A newly hatched channel catfish typically weighs about 0.06 gram. During the
first six weeks of life, its weight increases by about 10% each day. Write a model for the

[weight of the catfish d'_urir%thb_e first six week®
{

Lty - Whgnk ot i @tfish (grams) .
P umt @ gge yo00u( 0

¢ 5 1 3
\j:((‘fr) Y”\UIO MM

a. Using the model, predict the weight of the catfish after 26 days.

9= 0.04 (N

Example #2: A TV station’s local news program has 50,000 vi : Tbe,l_nﬁnagggo\fthe
station hope to increase the number of viewers by 2% per month. Mﬂwiﬁ)
@rowth model to represent the number of viewers v in t months

Lot = of Newers x
£= tang (M0RFNS) (250,000 ¥ =SO00L0ST

V=0 b fFongt U100

a. Using the model, predict how many viewers the news program will have in 15

months. \l’_ SO\OQO (\‘Q—L)\S

NEIUTZT3 WD)
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Notes:

A common real-life example of exponential growth is (B m?Q\)f\d \ “HY ES} .

The model for ( NYW 0 Und \ﬂl(we S} is generally written using:

‘ ears)
Lot —A = P(1+7)t7 M \9
VIN{IARLES & \
Y{:H\(\XM) gy €S
, C(amy pad (186
Example #3: You deposit $500 in an account that pays 8% interest compounded yearly.
What will the account balance be after 6 years?

v
AP0 P 500 A =500 (1+0.08)
(= %% P\:SQM\_Q‘W

P (Al

Example #4: A savings certificate of $1000 pays 6.5% interest compounded yearly. What is
the balance when the certificate matures in 5 years?

Pt Pe1000 p=1000 (1+0.005)°
(0.5 ﬁ"—l()oo(\\__()b“o);)
SER GRS

1. A rancher begins his herd of Longhorn cattle with 15. The herd grows by about 30%
per year. Write a model for the size of his during the first several years. | {} \5 -~ of (0 r |Q |

4= (0D gz 1500 0307 - pant e

LAV (TN
a. Using the model, predict how many cattle the rancher will have in 4 years.
5L’
y- 43 catrie ]

You practice:

2. You deposit $750 in an account that pays 6% interest rate compounded yearls/. What
)

is the balance after 10 years? ﬁ = 7] 50 ( \ ¥ GQ‘O)

s 1 k :’]50 :
A \\T{\ V(:\o‘ilg ﬁ". 750(\‘()“\0

AU T U 1 o e A
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Example #5: An initial population of 20 mice triples each year for 5 years.
A/

a. Write an exponential growth model. C_ L |\t f‘

W- W oot i >
O (Y Ears) Iy = 2009 ]

b. What is the mice population after 3 years?

- 120(3)’
\ﬁ 1540 m\(ﬂl

c. What is the mice population after 5 years?

Y=120(3)>
y o0 i

d. Graph the exponential growth of the model using a table:

5
[___ﬁ_________ g L\bb O_-
tlrl 5 /
g 120 & T
s /
0( 2) ; /
_ \ﬁ_?J___\O_Q_ ¢ 2000 - /
RN /
G o202 v gt
S SERST 000 +
5[4 200§ l
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